[ Efficiency vs vertpos |

~0.05
9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.0
0.005

q

0.8

.................................................

.................................................

.................................................

Lk

T
e

Ratio

S S R B RN LA RUALY RRARN RARRS LAY RALAN LARAN LALLE LRSI

0.6

107 1 2

=
2
N

10 0
TP vertr (cr%)

—=— DQMstep3_TT_CKF

Effici —e— DQMstep3_TT_default
ICIeNd _,__ pQMistep3_TT_defaultNEWTepo?

~ 0.05
9.045
2]
0.04
o)
9,035
o
£0.03
(]
0.025
0.02
0.015
0.01
0.005

q.:_ """ ;' T

0.8f---- SR A

Ratio

-30 -20 -10 O 10 0 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
$.035
2y
c0.03
[}
8.025
(0]
0.02
0.015
0.01

0.005

50 =15 -10 5 0 5 10 15 20
Sim. PV z (cm)

Ratio
=
T




	Contents
	Page 1


